H & 0l & AHS B Ml A

FA SASAE D
2 Qe A=A 2=
ol dFRE 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sASAY0 34,302,172 30,803,567 3,498,605
= 3,362,000
== 12,257,603
Al 18,682,569
gel d=td = 33,846,847 30,451,478 3,395,369
= 3,362,000
< 12,257,603
Al 18,227,244
dF2C 243 5,592,981 3,786,686 1,806,295
= 2,100,000
== 38,089
Al 3,454,892
HFRC JI2IMAE DB 2RALS 6,000 48,600 242,600
402 2I2E X201 & 6,000 48,600 242,600
01 QI XH2AILE X (KM THE) 6.000 48,600 A42,600
O&=ZE J|=dA |8 AFAIY 6,000
HF=ZE MY 22 66,000 66,000 0
201 Ler23| 66,000 66,000
01 At2teltl 66,000 66,000
OHFZC MY SHE SX= 66,000
=R SEANENE 22 3,053,000 3,137,800 /84,800
306 EX= 3,053,000 3,137,800 84,800
01 £g= 3,053,000 3,137,800 A84,800
OE=ZCSEXEHH 29 3,053,000
Shs sttE MRS A 13,041 13,986 A945
< 5,589
Al 7,452
307 elztol & 13,041 13,986 2945
= 5,589
Al 7,452
02 2B YAIHE £ 13,041 13,986 A945
Osdt= otMd HAHIE A& 13,041
= 5,589
Al 7,452
SSs4 saE dE & XA 45,000 23,400 21,600
== 22,500
Al 22,500
307 212+01& 45,000 23,400 21,600
= 22,500
Al 22,500
02 2IZHBHAIHE £ 45,000 23,400 21,600
O34 sdte ol NH 45,000




FA SASAE D
2 Qe A=A 2=
ol dFRE 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,500
Al 22,500
ZIC NG dat- AHl uF 235 Al (g 20,000 20,000 0
2)
= 10,000
Al 10,000
307 @120l & 20,000 20,000 0
== 10,000
Al 10,000
02 LB HAHEE 20,000 20,000 0
OZZEC MY Mot - A4 WF
& 20,000
S 10,000
Al 10,000
el d=&HA 2= XA 17,100 20,400 23,300
201 fer23| 3,600 5,400 21,800
01 AtR2t2|HI 3,600 5,400 1,800
oY AHelI?IEe S 45 ?Id =¥ 3,600
203 =4l 13,500 15,000 1,500
03 A=A 2= 13,500 15,000 21,500
O&=g HiHCIES & 352 R 13,500
IS XNZAEH HE 2,300,000 300,000 2,000,000
= 2,100,000
Al 200,000
401 Al HIZ 2018 2,300,000 300,000 2,000,000
= 2,100,000
Al 200,000
01 AlZH| 2,300,000 300,000 2,000,000
O=INCISE XA HE 2,300,000
= 2,100,000
Al 200,000
=2 SHEE A=Y 2 49,500 79,500 /30,000
201 2= 49,500 49,500 0
01 AtR2t2lt] 49,500 49,500 0
OHF=RE 58T A=XHE 29 49,500
SHcISE2elAIAE 2SI 23,340 24,000 A660
308 AHXIEMSOIH 23,340 24,000 2660
18 SIS0t oA AS A 23,340 24,000 660
OYAHcISE2ACIANAYE 2HXH 23,340
StuagM X 24,555,359 24,663,167 A107,808
=S 11,432,147
Al 13,123,212
St R4 20,774,624 19,317,108 1,457,516




FA SASAE D
2 Qe A=A 2=
=@ stugalld (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,840,982
Al 10,933,642
308 XXM SOIA 20,774,624 19,317,108 1,457,516
= 9,840,982
Al 10,933,642
08 wEJ| 20 Het 2= 20,774,624 19,317,108 1,457,516
Ot RAIARE 20,774,624
= 9,840,982
Al 10,933,642
Zletgds o2lol 24X 88,940 88,940 0
S 26,682
Al 62,258
307 212+01& 88,940 88,940 0
& 26,682
Al 62,258
11 AMEISXAEEES 88,940 88,940 0
OzlatZd oelol SaXE 88,940
= 26,682
Al 62,258
BIOI& =& 248 A& 330,000 660,000 330,000
308 AtXIEMSOIE 330,000 660,000 A330,000
08 W=J |20ttt Ex 330,000 660,000 A.330,000
OBioIE=&ZF AUl X1 330,000
ZletdsitE Stugallld 3,088,440 4,348,014 1,259,574
= 1,482,479
Al 1,605,961
308 XXM SO0l 3,088,440 4,348,014 1,259,574
= 1,482,479
Al 1,605,961
08 wEJ| 20 Het 2= 3,088,440 4,348,014 A1,259,574
OB sitE StugAKE 3,088,440
= 1,482,479
Al 1,605,961
TSSsud B XA 273,355 249,105 24,250
< 82,004
Al 191,351
307 elztol & 273,355 249,105 24,250
& 82,004
Al 191,351
02 2B YA E X 273,355 249,105 24,250
Oz=SSSua We2tA K& 273,355
= 82,004
Al 191,351




2A:

SASLE D

=

M e d&2MAH 2=
2l Sel oMY KR (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
el oty XI& 2,593,080 1,100,648 1,492,432
= 962,000
T 503,167
Al 1,127,913
s =ZN 27,000 53,480 26,480
= 27,000
301 LPENF 27,000 53,480 A26,480
= 27,000
14 J|EI2 A3 27,000 53,480 A26,480
ozlgtZd=HA=H 27,000
= 27,000
TEE RII=se SEHAY 48,080 78,448 230,368
T 14,430
Al 33,650
201 LB-2AY| 10,280 10,280 0
& 3,090
Al 7,190
01 At=R2teld| 10,280 10,280 0
ozlgtd RIl=d SEAMY 10,280
T 3,090
Al 7,190
301 LetENZ 37,800 68,168 230,368
= 11,340
Al 26,460
14 J|EI2 43 37,800 68, 168 230,368
ozlgtd RIl=d FEAMY 37,800
& 11,340
Al 26,460
et seE oIEHIEXA 94,400 114,700 220,300
T 34,400
Al 60,000
307 2I2+01™ A,400 114,700 220,300
& 34,400
Al 60,000
02 QIZHBAAIEER 94,400 114,700 220,300
OzlstZ =42 AISHIEXA 94,400
= 34,400
Al 60,000
Pt g A sXHH K& 280,000 280,000 0
402 QI X201 ™ 280,000 280,000
01 QIZEXH2 AN 2 2 (RERITH ) 280,000 280,000
OXEHA THHHHX &4 175,000
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FA SASAE D
2 Qe A=A 2=
el A3Js s4Nd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtSZgN 34 Laaeg 8,000 16,000 28,000
= 2,400
Al 5,600
307 el2to| & 8,000 16,000 28,000
= 2,400
Al 5,600
02 QIZtEHAEE X 8,000 16,000 28,000
OUISZ X 8= oA 8,000
s 2,400
Al 5,600
BXFAHY ZOF IR ALY 113,000 140,000 A27,000
S 113,000
402 2I2F X201 & 113,000 140,000 A27,000
s 113,000
02 QI X2 AL EE(0IETHE) 113,000 140,000 A27,000
O6ZtAHY =2 KIA 113,000
= 113,000
Y AEIY N3 (HEAY) 15,000 21,000 26,000
= 10,800
Al 4,200
402 QI+ X201 & 15,000 21,000 26,000
= 10,800
Al 4,200
02 QI X2 AL E R (01X THE) 15,000 21,000 26,000
oY A3JIg X 15,000
=S 10,800
Al 4,200
T3 ZHESASAAL i 50,000 100,000 /50,000
308 XXM SOIA 50,000 100,000 /50,000
13 S [2S0tHet 4 A AS A 50,000 100,000 /50,000
OdF ZNESASAAL JHA 50,000
HEAZ0NE 43t X (HEAY) 80,000 40,000 40,000
= 50,000
Al 30,000
308 AXIHS0IA 80,000 40,000 40,000
= 50,000
Al 30,000
18 SIS B XA AIE 80,000 40,000 40,000
oxsSA=0E gdat X 80,000
== 50,000
Al 30,000
sSASIY Sgda WK X2 56,250 60,000 A3,750
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